- T

@ {2, 4, 6, 8, , 998, 1000}
@ {z|o= 429] oF5}

® {z|zE 50ETHE 59] HiS}
@ {z|2 <z <430 A5}

® {6, 12, 18, 24,---}

A {2,4,6,8,---,100}
Aale] 2414} o tiate] n(A) +

B
n(B) ¢

=

A%t A, B ol "5t n(A) = 12, n(AU B)
16, n(ANB) =54 1, n(B) <

e

@ 6 @7 ® 8 @ 9 ® 10

. AR A B, C o Histe

A= {x|m—“— 89] O‘:/\}

B= {m|x 10K T 2Zhe 232 } ,

O = {alos T A4e] A0l 4A%5) o 0], The %

AL

Mo

® BcA @ AccC ® CcB

@ A¢ B ® A=C

of ]I17|-
=H O
5. A} U o F HEHYG A, Bl toto|, Ac B ¥4
o, o2 5S4 &2 A7
® B°cC A° @ A-B=0
® AnB=A @ AUB=B
® B-A=0
6. AAYF U o FEAY A o tiot] thx FollA &2
A2
O ec=A @ Uc=A
® (A°) @ AuU=A
® ANU=A
7. o= #l thojo]asio] B9 -8 S uff, gt
BEO] A9 42
1]
H7]
n(A)=30,n(B)=18,n(ANB)=6
A B
® 1074 @ 1270 @ 147§
@ 16 74 ® 187}




® olMUE 7T G At Y
L

® ezt 2 ofsgel B

9. W Al thste] z e A ol®, 5—x € A olth HH A
o 947t BT AA5A ), KT AT 4 o ASE

10. 84T U = {z|z& 10 o|5te] A4} o] & &
A%t A, B ol st BC = {1,3,5,6,7,9}, B— A=
{8,10}, (AUB)® = {1,5,9} & wj, A3 A o] Y47}
opd A&7

@ 2 @ 3 ® 4 @5 ® 6

11. A = {zlz =200t 59 vjx} A =

{z]e =20 ol5ke] 49 Wi%} o W, w4 U B)
)
®3 ©5 ®6 ®s8 610

12FF dictolo] =S B, o}
= F A E2 AL EF
27
(&2 7h)
© A={1, 5, 9}

@ B={3, 10, 12, 14}

® AcB
@ AnB=A
® AUB=A

13AAYFU =10, 1, 2, 3, 4, 5, 6, 7} O] F HEYF
A, Bl tiste] ANB = {5}, (AUB)° = {0, 3}, A—
B={1, 4} & W, n(B - A) °f #= Fotef=t.

14. T+ _
210(5) 2 <A°ﬂB°>—7<:=1rq1, HAG B2
o] Uetii+= %_/\4 B

® 14

@® 10 @ 12 @ 16 ® 18




15.U = {z[0 <z < 15, z= AA} o F #2404 =
{z|lz 12 0I5k9] 29 ¥} | B = {2,3,5,7,11,13}
of tiste] n ((AN B°) U (BN A°)) & Fstoigt.




